Republic of the Philippines

32	1	box	hypafixadhesive tape 10cmx5cm	50000	50000
33	3	pcs	leukoplast tape 5cm	50000	1,50000
34	2	box	glucose test strips for glucometer	80000	1,60000
35	1	pcs	footstool, 18'x9'x18'	50000	50000
36	2	pack	disinfecting wipes, 100s	25000	50000
37.	2	bottle	gel hand saritizer 500 ml	30000	

83	1	box	Simastatin 20ng tablet	1,00000	1,00000
84	2	box	SyndexDtablet 25ng/2ng/325ng	15000	30000
85	3	pcs	Visine Redeye drops	30000	90000
86	3	pcs	Vistacameye draps	30000	90000
87 .	1	pcs	Voltarengel, 1%	30000	30000

- 3 Price quotations must be valid for a period of sixty (60) calendar days from date of submission and shall include all taxes, duties and/or levies payable. Biddens shall also indicate the brand and model of the items being offered
- 4. Wanarty shall be for a period of six (6) months for supplies and meterials. Wanarty for equipment must not be less than one (1) year from the date of acceptance and shall be accompanied with Wanarty Certificate.